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Exercise 14.1 : Solutions of Questions on Page Number : 220
Ql:

Find the common factors of the terms
(i) 12x, 36

(ii) 2y, 22xy

(iii) 14pgq, 28p°q*

(iv) 2%, 3x2, 4

(v) 6abc, 24ab?, 12a%b

(vi) 163, -4x2, 32x

(vii) 10pg, 20gr, 30rp

(viii) 3x%y3, 10x3y?, 6x%y%z

Answer :

(i) 12x=2x2x3 xx
36=2x2x3x3

The common factors are 2, 2, 3.
And, 2x2x3=12

(ii)2y=2xy
22xy=2x11xxxy

The common factors are 2, y.
And, 2 xy =2y

(iii) 14pg=2x7 xpxq

28p2G2 =2 Xx2XTXPXPXGXQq
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The common factors are 2, 7, p, g.
And, 2 x7xpxqg=14pqg

(iv) 2x =2 x x

3x2 =3 XXXX

4=2x2

The common factor is 1.

(v) babc=2x3xaxbxc
24ab*=2x2x2x3xaxbxb
12a°b=2x2x3xaxaxb

The common factors are 2, 3, a, b.
And,2x3xaxb=6ab

(Vi) 16x3 =2 X2 X2 X2 XXXXXX
Ax?=-1X2X2XXXX
32X=2X2X2X2X2xX

The common factors are 2, 2, x.
And, 2 x 2 x x =4x

(vii) 10pg =2 x5xp xq
20gr=2x2x5xgxr
30rp=2x3x5xrxp

The common factors are 2, 5.
And, 2x5=10

(Viii) 3x2Y3 = 3XXXXXYXY XY

10X3)2 =2 XSXXXXXXXY XY
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BX°Y?Z =2 X3 XXXXXYXYXZ
The common factors are x, x, y, v.
And,

XXXXYXY =Xy

Q2:

Factorise the following expressions
(i) 7x - 42

(iiy6p-12g

(iii) 7a* + 14a

(iv) -16z + 2023

(v) 20Pm + 30 alm

(vi) 5x%y - 15xy?

(vii) 10a? - 15b% + 20c?
(viii) -4a% + 4ab - 4 ca
(ix) X2yz + xy*z + xyz?

(x) ax?y + bxy* + cxyz

Answer :

(i) 7x=7 x x

42 =2x3x7

The common factoris 7.

S T7x-42=(7xx)-(2x3x7)=7(x-6)
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(ii6p=2x3xp

12g=2x2x3xgq

The common factors are 2 and 3.

L 6p-129=(2x3xp)-(2x2x3xQq)
=2x3[p-(2xq)]

=6 (p-29)

(i) 7a’ =7 xaxa

lda=2x7xa

The common factors are 7 and a.
~7a°+14a=(7xaxa)+(2x7xa)
=7xala+2]=7a(a+2)

(iv) 162=2x2x2x2xz
2022=2x2x5x%xzxzx2

The common factors are 2, 2, and z.
5-162+2022=-(2x2x2x2x2)+(2X2X5%x2x2X2)
=(2x2x2)[-(2x2)+(5xzx2)]
=47 (-4 +57%)

(v) 20Pm=2x2x5x/Ix/xm
30aiIm=2x3x5xax/xm

The common factors are 2, 5, /, and m.
5 20Pm+30alm=(2x2x5x/x/xm)+(2x3x5xax/xm)
=(2x5x/xm)[(2x/])+(3xa)]

=10/m (2/ + 3a)
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(Vi) 5x?y =5 XX XXX Y

15xy? =3 x5xXxXy Xy

The common factors are 5, x, and y.

5 5x%y - 15xy2 = (XX XXX Y) - (3X5XXXYXY)
=5xxxy[x-(3xy)]

=5xy (x-3y)

(vii) 10a’=2x5xaxa

1562=3x5xbxb

20c?=2x2x5xcxc

The common factor is 5.

100% - 15b% +20c? = (2 x5xaxa)-(3x5xbxb)+(2x2x5xcxc)
=5[(2xaxa)-(3xbxb)+(2x2xcxc)]

=5 (20’ - 3b% + 4¢?)

(vii)4a’=2x2xaxa

dab=2x2xaxb

deca=2x2xcxa

The common factors are 2, 2, and a.
s-4a’+4ab-4dca=-(2x2xaxa)+(2x2xaxb)-(2x2xcxa)
=2x2xal-(a)+b-c]

=4a(-a+b-c)

(iX) X2yz =XXXXYXZ

XY’Z=XXYXYXZ

XyZ2=XXYXZXZ
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The common factors are x, y, and z.

SXPYZ A XYPZ+ XYZP = (XXXXYXZ)+ (XXYXYXZ)+(XXyXZX2)
=XXYXZ[x+y+2]

=xyz (X +y+2)

(X) ax’y =ax XX XXy

bxy?=bxxxyxy

CXYZ=CXXXYXZ

The common factors are x and y.

a

Q3:

Factorise

(i) x>+ xy + 8x + 8y

(ii) 15xy - 6x + 5y - 2

(iii) ax + bx - ay - by

(iv) 15pg + 15 + 9q + 25p

(V) z-7+7xy - xyz

Answer :

(X2 +Xy+8Xx+8y=xXX+XXy+8xx+8xy
=x(x+y)+8(x+y)

=(x+y)(x+8)

(i) 15xy - 6x+5y-2=3x5xxxy-3x2xx+5xy-2
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=3x(5y-2)+1(5y-2)

=(5y-2)(3x+1)
(iii)ax+bx-ay-by=axx+bxx-axy-bxy
=x(a+b)-y(a+b)

=(a+b)(x-y)

(iv) 15pg + 15 + 9g + 25p = 15pqg + 9g + 25p + 15
=3x5xpxg+3x3xg+5x5xp+3x5
=39 (50+3)+5(5p+3)

=(5p+3) (3g +5)
(V)Z2-7+7xXy-xXyz=2-XXyX2-7+7XXXY
=z(1-xy)-7(1-xy)

=(1-xy)(z-7)

Exercise 14.2 : Solutions of Questions on Page Number : 223
Ql:

Factorise the following expressions.
(i) @+ 8a + 16

(ii) p? - 10p + 25

(iii) 25m? + 30m + 9

(iv) 49y? + 84yz + 3622

(v) 4x?2-8x + 4

(vi) 121b? - 88bc + 16¢2

(vii) ({ + m)? - 4lm (Hint: Expand (/ + m)? first)
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(viii) a* + 2a?b? + b*

Answer :

(i) o+ 8a+16=(a) +2xa x4+ (4)2

= (@ +4) [(x+y)2 = X2+ 2xy + V]

(i) p2- 10p + 25 = (p)2- 2 X p X 5 + (5)2
=(p-5)(a-b)?=a*-2ab + b?]

(iii) 25m? +30m + 9 = (5m)> + 2 X 5m x 3 + (3)2

= (5m +3)2 [(a + b)? = a? + 2ab + b?]

(iv) 49y? + 84yz + 3672 = (7y)? + 2 X (7y) x (62) + (62)2
= (7y +62)2 [(a + b)> = a? + 2ab + b?]

(v) 4x2 - 8x +4 = (2x)% - 2 (2x) (2) + (2)2

= (2x-2)*[(a- b)* = a2 - 2ab + b?]

=[(2) (x-1)]* = 4(x- 1)?

(vi) 121b2 - 88bc + 16¢2 = (11b)2 - 2 (11b) (4c) + (4c)?
= (11b - 4c)? [(a - b)? = a* - 2ab + b?]

(vii) (I + m)? - 4Im = > + 2Im + m? - 4Im

= 2-2Im + m?

= (I-m)2 [(a- b)? = a® - 2ab + b?]

(viii) @* + 20262 + b* = (a2)2 + 2 (a?) (b?) + (b?)?

= (a? + b?)? [(a + b)> = a* + 2ab + b?]

Q2:
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Factorise

(i) 4p? - 9¢*

(ii) 6302 - 112b2

(iii) 49x2 - 36

(iv) 16x° - 144x3

(V) (1 +m)?- (- m)?
(vi) 9x%y? - 16

(vii) (x% - 2xy + y?) - 22

(viii) 2502 - 4b? + 28bc - 49¢?

Answer :

(i) 4p* - 9g° = (2p) - (3g)*

=(2p +3q) (2p - 3q) [a* - b* = (a - b) (a + b)]
(ii) 6302 - 112b? = 7(9a2 - 16b?)

=7((3a) - (4b)*]

=7(3a +4b) (3a - 4b) [a?- b2 = (a - b) (a + b)]
(iif) 49x2 - 36 = (7x)2 - (6)>

= (7x-6) (7x + 6) [a* - b? = (a - b) (a + b)]

(iv) 16x° - 144x% = 16x3(x? - 9)

=16 x*[(x)* - (3)°]

=16 x3(x- 3) (x+3) [02- b2 = (a - b) (a + b)]
(V) (I +m)> - (I-m)? = (I + m) - (I - m)] [(I + m) + (I - m)]

[Using identity a®- b? = (a - b) (a + b)]
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=(+m-1+m)(l+m+1-m)

=2mx 2l

= 4ml

= 4m

(vi) 9x2y2 - 16 = (3xy)2 - (4)?

= (3xy-4) (3xy + 4) [a?- b? = (a - b) (a + b)]

(vil) (x2 - 2xy + y2) - 22 = (x - y)? - (2) [(a - b)? = @* - 2ab + b?]
=(x-y-2) (x-y+2) [a*- b= (a-b) (a +b)]

(viii) 2502 - 4b2 + 28bc - 49¢? = 2507 - (4b? - 28bc + 49¢?)
= (5a)%- [(2b)2- 2 x 2b x 7c + (7¢)?]

= (5a)* - [(2b - 7c)’]

[Using identity (a - b)? = a2 - 2ab + b?]

= [5a + (2b - 7¢)] [5a - (2b - 7¢)]

[Using identity a2 - b* = (a - b) (a + b)]

= (5a+2b - 7¢c) (5a - 2b + 7¢)

Q3:

Factorise the expressions
(i) ax® + bx

(ii) 7p* + 21

(iii) 2x3 + 2xy? + 2x22

(iv) am? + bm? + bn? + an?

VM(m+h+m+1
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(vi) yly +2) +9(y + 2)
(vii) 5y - 20y - 8z + 2yz
(viii) 10ab + 4a + 5b + 2

(ix) 6xy - 4y + 6 - 9x

Answer :

(Y ax?+bx=axxxx+bxx=x(ax+b)

(i) 7p2 +21g2=7xpxp+3x7xqgxq=7(p? + 392
(iii) 23 + 2xy? + 2x2% = 2x(x* + y?> + 2%)

(iv) am? + bm? + bn? + an? = am? + bm? + an? + bn?
=m%(a +b) +n*(a+b)

=(a+b) (m?+n?)

V) (Im+)+m+1=Im+m+/+1
=m(/+1)+1(/+1)

—(+1) (m+1)
(Vi)yly+2)+9(y+2)=(y+2)(y+9)

(vii) 5y? - 20y - 8z + 2yz = 5y* - 20y + 2yz - 82
=5y(y - 4) + 22(y - 4)

=(y-4) (Sy+22)

(viii) 10ab + 4a + 5b + 2 =10ab + 5b + 4a + 2
=5b(20+ 1) +2(2a + 1)

=(2a+1)(5b+2)

(ix) 6xy -4y +6-9x=6xy-9x -4y + 6
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=3x(2y - 3) - 2(2y - 3)

=(2y-3)(3x-2)

Q4:
Factorise

(i) a* - b*

(ii) p*- 81

(iii) x4 - (y + 2)*
(iv) x* - (x - 2)*

(v) a* - 2ab? + b*

Answer :

(i) a* - b* = (a%) - (b%)?

= (a%- b?) (a® + b?)

= (a-b) (a+b) (a? + b?)

(ii) p* - 81 = (p?)? - (9)?

=(p*-9) (p*+9)

=[(p)* - (3)] (p* +9)
=(p-3)(p+3)(p*+9)

(i) x* - (y + 2)* = (x*)* - [y +2)°]?
= -(y+ 21 ¥ + (y+2)°]
=[x-(y+2)lx+(y+2)] [+ (y+2)°]

=(x-y-2) (x+y+2) x>+ (y+2)]
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(iv) X* - (x - 2)* = (x*)* - [(x - 2)*]?

=[x - (x-2°] [¥* + (x - 2)°]

=[x~ (x-2)] [x + (x- 2)] [¥* + (x - 2)°]

= 2(2x - 2) X% + X% - 2xz + 2]

= 2(2x - 2) (2X% - 2xz + 2)

(v) a* - 2ab? + b* = (0°)% - 2 (a?) (b?) + (b?)?
= (a®-b?)?

=[(a-b) (a +b))?

= (a-b)* (a+b)?

Q5:

Factorise the following expressions
()p*+6p+8

(i) g? - 10g + 21

(iii) p> + 6p - 16

Answer :

(iyp>+6p+8

It can be observed that, 8=4x2and4+2=6
wpP+6p+8=p+2p+4p+8
=p(p+2)+4(p+2)

=(p+2)(p+4)

(i) g? - 10g + 21
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It can be observed that, 21 =(-7) x (-3) and (-7) + (-3) =- 10
~q*-10g+21=9°-7q9-3q+21

=qlq-7)-3(q-7)

=(g-7)(q-3)

(i) p> + 6p - 16

It can be observed that, 16 =(-2) x8and 8 + (-2) =6
p>+6p-16=p>+8p-2p-16

=p(p+8)-2(p+8)

=(p+8)(p-2)

Exercise 14.3 : Solutions of Questions on Page Number : 227
Ql:

Carry out the following divisions.
(i) 28x* AfA- 56x

(ii) -36y3 AfA- 9y?

(iii) 66pg*r® AfA- 11gr?

(iv) 34x3y323 AfA- 51xy?Z3

(v) 12a8b8 AfA- (-6a°b?)

Answer :
(i) 28x* =2 X2 X7 XXXXXXXX

56x=2%x2%x2x7xx

- 2x2xTxxxxxxxx x 1 ,
28x" + 56x = =— =X
2x 2w 2xTxx 2 2


http://www.ncrtsolutions.in/
http://www.ncrtsolutions.com/
javascript:void(0);

www.ncrtsolutions.in www.ncrtsolutions.com

(i) 36y =2x2x3x3xyxyxy
9?=3x3xyxy

. . =2x2m 33N pxyxy
=36y +9y° = yxJ J:_

4y

In3xymy
(i) 66 pg? rP=2x3x11xpxXgXgXrxrxr
11grr=11xqgxrxr

2 %3l prgrgxrrxr

66 pgr +1lgr = =6 pgr

Ilxgxrxr
(iV) 34 X333 = 2 X 17T XXX XXX XYXYXYXZXZXZ
51xy?23=3x17 XXX YXYyXZXZXZ

3 2XITXXXXXRXK PR YR PRININZ

34x'y'2 +51 X'z
IXITxxx yxyxzxzIxz

(v) 12a8p8 =2 x2 x3xa®x b8
6a°h* =2 x 3 x g® x p*

2 Y
12a"h" +{—ﬁr.’.'{'h'l') _ o “x_‘Bx‘: x'?
' =2x3xa"xb" = _yg2pt

Q2:

Divide the given polynomial by the given monomial.
(i) (5x2 - 6x) AfA- 3x

(i) (3y® - 4y° + 5y*) AfA- y*

(iii) 8(x3y2z% + x%y3z% + x%y223) AfA- 4x%y2z?

(iv) (0@ + 2x% + 3x) AfA. 2x
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(v) (p°q® - P°¢°) AFA: pq®

Answer :
(i) 5x% - 6x = x(5x - 6)

J:(f_'!.‘l:—(}} _ 1

{5.!:‘ E:.Y]:B.r: i 3{5){ 6)

(i) 3y® - 4y° + 5y* = y*(3y* - 4y? + 5)

v (3y' -4y +5)

4
¥

=3y' —4)y° +5

[3}-‘5 —dy" + 5y ") syt =

(iii) 8(x3y22% + x2y32% + x2y*23) = X%y (x + y + 2)

e E
B{x‘y':'+.1r'tl|":'+.1:'.1":‘)+4x'l'.":'= T ﬂ(t+;1+ }:2(_T+I'|.'+:)
4x"y oz

(iv) X3 + 2x% + 3x = x(x* + 2x + 3)

{x"‘ +2x° +3.1c)+ h‘:—x(.\'z +2.1:+3) _ ;
' 1x 2"

(v) p°q° - p°q® = P*q*(q® - p?)

rele-r)

(P'¢" -p'a)+ ¢ =——5—"=¢-p
g

Q3:

Work out the following divisions.
(i) (10x - 25) AfA- 5

(ii) (10x - 25) AfA- (2x - 5)

(iii) 10y(6y + 21) AfA- 5(2y + 7)
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(iv) 9x3y%(3z - 24) AfA- 27xy(z - 8)

(V) 96abc(3a - 12)(5b - 30) AfA- 144(a - 4) (b - 6)

Answer :

(105 25)+5 = 2x5x3=5x5 _5(2x=3)
(i) 5 5

=2x-5

(10x-25) = (2 —5) = 222X 5(2x-5)

(ii) (2x-5) 2x-5

2% 5% y[2x3x y+3x7]
5(2y+7)

Iﬂ_v{ﬁ_}-'+2l)+i[2_v+?)=
(iii)

_ 2x5xyx3(2y+7) P
o 5(2p+7) ’
Q.x':_t'j[Ex:—Exzxix 3]

27xy(z-8)

Ox*y* (32-24)+27xp(z-8) =
(iv)

_ayx3(z-8)

(V) 96 abc(3a - 12) (5b - 30) AfA- 144 (a - 4) (b - 6)

B 96abc(3xa—3x4)(5xb—2x3x35)
- 144(a—4)(h-6)
- 2abcx3(a—4)x5(b-6)

| - 10abe
3(a-4)(h-6) o

Q4.
Divide as directed.

(i) 5(2x + 1) (3x + 5) AfA- (2x + 1)
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(ii) 26xy(x + 5) (v - 4) AfA- 13x(y - 4)
(iii) 52pgr (p + q) (g +r) (r + p) AfA- 104pq(q + r) (r + p)
(iv) 20(y + 4) (y? + 5y + 3) AfA- 5(y + 4)

(V) x(x + 1) (x + 2) (x + 3) AfA- x(x + 1)

Answer :

5(2x+1)(3x+1)

S(2xe1)(3r+5)s(2601) - 22

(i)

=5(3x+1)

2x13xxp(x+5)(y-4)
13x(y—4)

200 (x+5)(y—4)+13x(y-4)=

(ii) =2y (x+5)

(iii) 52par (p +q) (g + ) (r + p) AfA- 104pq (g + 1) (r + p)

2x2x13x pxgxrx(p+gq)x(q+r)x(r+p)
2x2x2x13x pxgx(g+r)x(r+p)

1

=7 (p+q)

(iv) 20(y +4) (> + 5y +3) =2 x 2 x 5 x (y + 4) (y* + 5y + 3)
lxlxﬁx{_1'+'—l}x(_1f: +5_1'+3}
Sx(y+4)

= 4{,1;” +5y+3)

20(y+4)(y* +5y+3)+5(y+4)=

x(x+1)(x+2)(x+3)

_1-[_1---]}{_T+ 2}{.‘1‘+3}+-T{I+]}= x(x+1)

(v)

=(x+2)(x+3)

Q5:

Factorise the expressions and divide them as directed.
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(i) (v* + 7y + 10) AfA: (y + 5)

(ii) (m? - 14m - 32) AfA- (m +2)

(iii) (5p? - 25p + 20) AfA- (p - 1)

(iv) 4yz(z* + 62 - 16) AfA- 2y(z + 8)

(v) 5pq(p? - g%) AfA- 2p(p + q)

(vi) 12xy(9x2 - 16y2) AfA- 4xy(3x + 4y)

(vii) 39y3(50y%- 98) AfA- 26y2(5y+ 7)

Answer :

(i) (y*+ 7y +10) = y* + 2y + 5y + 10
=y(y+2)+5(y+2)
=(y+2)(y+5)

(32 +7y+10)+(y+5) = ["'*{j]ﬂ';j} = y+2

(i) m?-14m-32=m?+2m-16m - 32
=m(m+2)-16(m+2)

=(m+2)(m-16)

‘ 2)(m—16
[rm"—|4m—33‘]+{m+2}:{m+ }{m ‘}=f”‘|5

' / (m+2)

(iii) 5p% - 25p + 20 = 5(p? - 5p + 4)
=5[p*-p-4p+4]
=5[p(p-1)-4(p-1)]

=5(p-1) (p-4)
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{5;}3—25;;+El])+{p—|]: — = =5(p-4)

(iv) 4yz(z%> + 62 - 16) = 4yz [2° - 2z + 82 - 16]
=4yz(2(z-2)+8(z- 2)]
=4yz(z-2)(z+8)

4yz(z-2)(z+8)
2y(z+8)

4_].':(:::+ﬁ:—|ﬁ)+2_1‘{:+3)= =2z(z-2)

(v) 5pq(p? - g?) =5pq (p-q) (p +q)

Spa(p —q')+2p(p+q)= =~ q(p-q)

Spa(p-gq)(p+q) _5
2;}[p+q} 2

(vi) 12xy(9x? - 16y?) = 12xy[(3x)? - (4y)?] = 12xy(3x - 4y) (3x + 4y)

2x2x3xxx yx(3x—4y)x(3x+4y)
Exﬂxn'x}-x{3x+4_]-]
=3(3x-4y)

1 E.U'{Qf —16y° }+ 4xy(3x+4y)=

(vii) 39y3(50y2-98) =3 x 13 x y x y x y x 2[(25y? - 49)]
=3x13x2xyxyxyx[(5))?-(7)
=3x13x2xyxyxy(5y-7)(5y+7)
26y2(5y+7)=2x13xyxyx (S5y+7)

39)3(50y2 - 98) AfA-26y2 (5y + 7)

39y3x2(25y2—49)

267405y +7)

_ FCr+NCOF-T)
(3r+7)

=3y (o =T
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Exercise 14.4 : Solutions of Questions on Page Number : 228
Ql:

Find and correct the errors in the statement: 4(x-5) =4x-5

Answer :
LHS.=4(x-5)=4xx-4x5=4x-20%R.H.S.

The correct statement is 4(x - 5) = 4x - 20

Q2:

Find and correct the errors in the statement: x(3x + 2) = 3x? + 2

Answer :
LH.S. =x(3x+2)=xx3x+xx2=3x*+2x#R.H.S.

The correct statement is x(3x + 2) = 3x? + 2x

Q3:

Find and correct the errors in the statement: 2x + 3y = 5xy

Answer :
L.HS=2x+3y#R.H.S.

The correct statement is 2x + 3y = 2x + 3y

Q4

Find and correct the errors in the statement: x + 2x + 3x = 5x
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Answer :
LHS=x+2x+3x=1x+2x+3x=x(1+2+3)=6x#R.H.S.

The correct statement is x + 2x + 3x = 6x

Q5:

Find and correct the errors in the statement: 5y + 2y +y -7y =0

Answer :
LHS.=5y+2y+y-7y=8y-7y=y#RHS

The correct statementis 5y + 2y +y-7y=y

Q6:

Find and correct the errors in the statement: 3x + 2x = 5x2

Answer :
L.H.S. =3x+ 2x=5x#R.H.S

The correct statement is 3x + 2x = 5x

Q7:

Find and correct the errors in the statement: (2x)2 + 4(2x) + 7 =2x> + 8x + 7

Answer :
LHS=(2x)2+4(2x) +7=4x*+8x+ 7 #R.H.S

The correct statement is (2x)2 + 4(2x) + 7 = 4x*> + 8x + 7
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Q8:

Find and correct the errors in the statement: (2x)? + 5x = 4x + 5x = 9x

Answer :
L.H.S = (2x)% + 5x = 4x? + 5x # R.H.S.

The correct statement is (2x)? + 5x = 4x* + 5x

Q9:

Find and correct the errors in the statement: (3x +2)2=3x?+ 6x + 4

Answer :
LH.S. = (3x+2)?=(3x)>+ 2(3x)(2) + (2)? [(a + b)? = a* + 2ab + b?]
=9x2+ 12x+4 #R.H.S

The correct statementis (3x+2)2=9x? + 12x + 4

Q10:

Find and correct the errors in the statement: (y - 3)2=y%-9

Answer :
LHS=(y-3)2=(y)2-2(y)(3) + (3)?[(a - b)?> = a* - 2ab + b?]
=y2-6y+9#RHS

The correct statementis (y - 3)2=y?-6y +9


http://www.ncrtsolutions.in/
http://www.ncrtsolutions.com/
javascript:void(0);
javascript:void(0);
javascript:void(0);
javascript:void(0);

www.ncrtsolutions.in www.ncrtsolutions.com

Ql1l:

Find and correct the errors in the statement: (z + 5)2 =72 + 25

Answer :
LHS=(z+5)2=(2)%+2(2)(5) + (5)%[(a + b)? = a* + 2ab + b?]
=72+10z+25#R.H.S

The correct statement is (z + 5)2 = 22 + 10z + 25

Q12:

Find and correct the errors in the statement: (2a + 3b) (a - b) = 2a? - 3b?

Answer :
LHS.=(2a+3b)(a-b)=2axa+3bxa-2axb-3bxb
=20%+3ab-2ab-3b*>=20*+ab-3b*>#R.H.S.

The correct statement is (2a + 3b) (a - b) = 2a° + ab - 3b?

Q13:

Find and correct the errors in the statement: (a +4) (a +2) =a?+8

Answer :
LHS.=(a+4)(a+2)=(a)*+(4+2)(a)+4x2
=0’+6a+8#RHS

The correct statementis (a+4) (g +2)=a*+6a + 8
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Ql4:

Find and correct the errors in the statement: (a - 4) (a-2) =a%-8

Answer :
LHS. =(a-4) (a-2)=(a)?+[(-4)+ (- 2)] (@) + (- 4) (- 2)
=0g?-60+8#R.H.S.

The correct statementis (a-4) (a-2)=a?-6a + 8

Qi15:
3- 2
1:' =ﬂ
Find and correct the errors in the statement: 3%
Answer :
3"": _3XXXX L RHS.
LHS= 3x" 3xxxx
3- 2
‘{3 :1
The correct statement is 3%
Ql6:
3 +1
e —1e1=2

Find and correct the errors in the statement: 3%

Answer :

3x+1_3x lﬁ =1+ l? =RHS.

3’ 3x 3x 3x
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3x +1 1
=1+

The correct statement is 3% 3x

Q17:

ix 1

Find and correct the errors in the statement: 3x+2 2

Answer :

Ix
LHS=3x+2

= R.H.S.

The correct statement is Jx+2 3x+2

Ql8:

3 I

Find and correct the errors in the statement: 4x+3  4x

Answer :

3
LHS. =4x+3 2R HS.

3 3

The correct statement is dx+3 dx+3

Q19:

dx+5 _s

Find and correct the errors in the statement:  4x
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Answer :

4_]_'-.-5_43— | i:] }iil{.H-S

LHS. = dx T4y 4y 4x

dx+5
=1+

5
The correct statementis  4x 4x

Q20:

Tx+5 3

Find and correct the errors in the statement: 2

Tx

Answer :
Tx#3_7x .5 _7X . .RHS.
LHS. = 3 5 5 35
Tx+5 Tx

=241

The correct statement is 5
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